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Solutions: 

1.  i.   𝑓𝑘 =  𝜇𝑘 𝑚𝑔 𝑐𝑜𝑠 𝜃                              𝑎 =  
𝑚2𝑔−𝑚1𝑔𝑠𝑖𝑛𝜃−𝑓𝑘 

𝑚1+𝑚2
 

       = 0.35× 4 × 9.8 × 𝑐𝑜𝑠30𝑜                     =  
9 × 9.8−4 ×9.8𝑠𝑖𝑛30−11.88

4+9
 

      = 11.88 N                                                 = 4. 36 𝑚𝑠−2 

ii. T = 𝑚2𝑔 −  𝑚2𝑎 

        = 9 ×  9.8 −  9 ×  4.36  

        = 48.93 N 

2. i. 𝑓𝑘 =  𝜇𝑘 𝑚𝑔                                  ∑ 𝐹 =  𝑚2𝑔 − 𝑓𝑘 

        = 0.15× 3 × 9.8                               =  7 ×  9.8 −  4.41 

        = 4.41 N                                           =  64.19 N 

ii. 𝑎 =  
∑ 𝐹 

𝑚1+𝑚2
  = 

64.19

3+7
   = 6.419 = 6.42 𝑚𝑠−2 

iii. T = 𝑚2𝑔 −  𝑚2𝑎 

        = 7 ×  9.8 −  7 ×  6.419  

     T   = 23.67 N 

3. i. 𝑣𝑓
2 =  𝑣𝑖

2 + 2𝑎𝑑                 ii.  T = mg + ma                                                                     

   0 =  72 + 2𝑎 ×  12                                                                 =  800 x 9.8 + 800x -2.04 

   𝑎 =  −2.04 𝑚𝑠−2                                     T = 6208 N 

iii. ma = R -W 

                          R   =  W + ma 

                                              =  60 x 9.8 + 60 x -2.04   

                           R = 465.6  


